8 7 6 S 4 3 2 | 1

REVISIONS
[> NOTES R | v 3 APPROVAL
[wioos] ] 171472081 ] TLC
1. NON—IMPACT RESISTANT OPTION — .125" v [4787/21 [ TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC

DESIGN PRESSURES SHOWN ON THIS DRAWING.
ZING SHALL HAVE A MAXIMUM HEIGHT OF
AND A MAXIMUM LENGTH

e7o OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR 13 GA HORIZ ANGLE
WIND-BORNE DEBRIS REGIONS. \
2. IMPACT RESISTANT GLAZING OPTION — ¢ DOOR
IMPACT RESISTANT GLAZING SYSTEM MAY BE |
INSTALLED IN INTERMEDIATE secn;ms (MTH | i
OR WITHOUT DECORATIVE INSERTS). GLAZING i
SHALL BE 1/4° POLYCARBONATE. MAXIMUM 15 GA MIN #&g |
GLAZING DIMENSIONS SHALL BE 11” x 17%,
FASTENED WITH A MINIMUM #8 X 1° SMS: 3X 13 GA CONTINUOUS
ALONG THE HORIZONTAL AND 2X ALONG THE
VERTICAL. WALL ANGLE .|
3. ALUMINUM FULL VIEW OPTION — ALUMINUM -
SECTION- EXGEBT TOP AND BOTTOM'PANELS I N ’ 9 2
Al M PAI - A
ALUMINUM FULL VIEW SECTION SHALL HAVE N A E 20 GA CENTER STILE —~1
RAILS AND STILES OF EXTRUDED ALUMINUM . . H /
ALLOY 6063—T6 AND .125" MINIMUM DSB 5/18"x1-5/8’
euzmc INSI'ALLED WITH ALUMINUM LAG SCREW AT EACH
ETAINERS IN ORDER TO MEET UNIFORM PAIR OF HOLE "
sm1c DESIGN PRESSURES SHOWN ON THIS LOCATIONS FOR WOOD
DRAWING. AFV GLAZING PANEL SIZE IS SUBSTRATE. SEE SHEET
;s a'?s)}mns% A('ix:::\xl:’) oéL?‘Z(I)l_:_G IESEI"‘QI'.II:I IMPACT 3 FOR MOUNTING TO
Al M
REQUIREMENTS FOR WIND—BORNE DEBRIS OTHER SUBSTRATES.
REGIONS. H x
4. MINIMUM_ OF 1" OVERLAP ON BOTH JAMBS » HH N
REQUIRED TO MEET NEGATIVE DESIGN %Z,:T/S‘;ﬁ%"icf_zmg t
PRESSURES. : D - 0
NUTS AT EACH TRACK H
5. SUDE LOCK OR OPERATOR REQUIRED. CLIP LOCATION f SHEET ° /
(SEE DETAIL A SHEET 3) ™
6. SECTION STEEL TO HAVE THE FOLLOWING 20 GA END STILE— .
MINIMUM THICKNESS: _/ oo ] (OUTSIDE END STILE H
421, 423 — 20 GA 11 GA TRACK CLIPS WOOD FILLED)
427, 429 — 24 GA (WELDED, BOLTED, OR
434, 436 — 25 GA RIVETED TO WALL v
ANGLE) SEE NOTE 8 AND 4
7 THE DESlGN OF THE SUPPORTING
ENTS SHALL BE THE DETAIL F SHEET 3 H
RES’ONSIBILITY OF THE PROFESSIONAL OF .
RECORD FOR THE BUILDING OR STRUCTURE H
A ML 0 - :
DRAWING. 1 B *
8. TRACK CUPS SHALL BE LOCATED WITH SUDE LocK BOTH ENDS—"| il {
g 1 (NOT REQUIRED WITH
CENTERUNE OF BOTTOM CLIP SPACED 10’
MAX FROM BOTTOM OF TRACK AND REMAINING OPERATOR — SEE NOTE 5) U H
TRACK CLIPS SPACED AT 24" 0.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND —d
SPUCE PLATE SHALL BE 30" O.C. MAX. =
<
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO $ o -
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. ]
REFER TO JAMB CONNECTION SUPPLEMENT A i
FOR ATTACHMENT TO SUPPORTING : =
STRUCTURE. NOTE:  (4) SECTION SOLID DOOR 1 =
SHOWN. SEE SHEET 2 FOR .o ! :
C—CHANNEL LOCATIONS ON DOORS 3
SUPERlMPOSED DES'GN PRESSURE WTH OTHER SECTION QUANTITIES AND A /.”? M "\ /
SEE NOTES 1, 2, & 3 OF THIS SHEET . ", %ﬂ:
LS\QDS ON SUPPORTING STRUCTURE R CATING BTN, i W ; . \ |
DOOR MAX UNIFORM LOAD EACH JAMB - i } ° 1 H
DOOR | ot (PLF) I i : i
WDTH " |
127-2"] AL +267.7/-303.0 \,
.\-. -
S—
s\\\\\\
-
E o F * \‘ Digitally signed by
..o' ° ."' John Christian
o 'SC jstian  Voelkel
‘% S | Date: 2021.05.03 THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
voeme 10:34:57 -05'00"
et ’ THE TRAVINGS D ALL (ITHER TAORMATION HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES.
) B N s A ey SRt e, B s
STATIC PRESSURE_RATINGS APPROVED_SIZES — ot FINESH [ o T T o T |
MAX WIDTH: 12'-2" 6 VHOLE N/A L [VINDLOAD,OPTION CODE 2026
DESIGN PRESSURE(PSF): +44.0/—-49.8 - RDER 230 a0a/-0 | oS = 25 "7 Clark | v14s21 RS 21/ 420/ 427 B0/ 434/436,
MAX HEIGHT: 24'—1" TO 500 +.006/-003 | x 3 UNIT OF | mremas CHeTkED B 4
- 1 3 3 1 7 4 YiL00 b YIAS uvzn 500 +008/-003 XX + 03 | peaswre J QIAN 1/8/21 Tt
IMPACT/CYCLIC RATED: YES MAX _SECTION HEIGHT: 24 S i el XX om0 N/A SroeVED B &E D- 411793
"90 (/ 60 —F e T ke 116 MoES 5 | EA TcLaRK | 42772 e Teemi =3
o o
8 7 | . ‘Z“ ‘CENS | 4 | 3 | 2 1
‘\ SI' ®ecc00°®

s


chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4-20 HEX NUT :
THROUGH THE SLOT IN THE /
TRACK AND TRACK CLI ;

12 GA COMMERCIAL TOP FRAME
BRACKETS WITH 13 GA ROLLER

CARRIERS, EACH ATTACHED WITH
(4) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

2° 1144 STEEL ROLLER WITH \
7/16" DIA. x 9" LONG STEM AND

7/16” PUSH NUT AT TOP ROLLER \

LOCATION. 1/4" MAX BETWEEN e

PUSH NUT AND BRACKET. ]
DETALL B

ADD (2) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS ~ _._.

(INSIDE OF EACH INSIDE END HINGE)

2" 1144 STEEL ROLLER WITH
7/16" DIA. x 9" LONG STEM
AT EACH ROLLER LOCATION
WITH 7/16" PUSH NUT 1/4"
MAX BETWEEN PUSH NUT AND
OUTER HINGE.

13 GA MODIFIED WIDE BODY
END HINGE ATTACHED WITH
(4) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS

14 GA WIDE_BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)

1/4—14x7/8" SELF DRILLING 5
CRIMPTITE’ SCREWS =
SOLID SECTION
(2) 1/4=14x7/8" SELF DRILLING \'-\
CRIMPTITE SCREWS \
HALF HINGE- :

(2) 1/4 x 1/2"
CARRIAGE BOLTS AND
1/4" FLANGE NUTS

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 12'-2"
MAX HEIGHT: 24'-1"

DESIGN PRESSURE(PSF): +44.0/—49.8

IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24

J.C VOELKEL

'p—o'-., 133174

8 7 |

11 GA DOUBLE BOTTOM BRACKET
ATTACHED WITH (20) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS (8
OF WHICH ARE USED IN ATTACHMENT
OF STRUT AND 8 OF WHICH ARE
USED TO ATTACH 12 GA ROLLER
CARRIERS)

2° 1144 STEEL ROLLER
WITH 7/16" DIA. x 9°
LONG STEM AND 7/16
PUSH NUT. 1/4" MAX
BETWEEN PUSH NUT AND
BRACKET.

ATTACH U—BARS WITH
(4) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

(12) SECTION DOORS WITH

(12) 4" 18 GA 80 KSI C-CHANNELS

<12) 3* 18 GA 80 KSI U-BARS

LOCATED AS SHOWN

(11) SECTION DOORS WITH

(11) 4" 18 GA 80 KSI C—CHANNELS
dp 3* 18 GA ARS

LOCATED AS SHOWN I
!?

(10) SECTION DOORS WITH

(10) 4" 18 GA 80 KSI C—CHANNELS
10) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WTH
(9) 4" 18 GA 80 KSI C—CHANNELS
(9 3" 18 GA 80 KSI U-BARS

(8) SECTION DOORS WITH
(8) 4" 18 GA BO KSI C—CHANNELS
® 3* 18 GA 80 KSI U-BARS

OCATED AS SHOWN

(7) SECTION DOORS WITH

(7) 4 18 GA 80 KSI C—CHANNELS

) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH

(6) 4” 18 GA 80 KSI C—CHANNELS
(6> 3 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH

(5) 4" 18 GA 80 KSI C—CHANNELS
<5 3" 18 GA 80 KS| U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH

(4) 4" 16 GA 80 KSI C—CHANNELS
(4) 3" 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

Y / THE TRAVINGS AND ALL ITHER TNFORWATION CONT AND FROPRIE TARY PREPERTY OF OVERHEAD TRR CIRFIRATION A0 TTS AFFILIATED CIMPANES.
‘| Tmn,mvm.:mmpm,mvumrmm:nmmvwnmmns:ﬂ ANYONE VITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DODR cmmunuu mnm.uwn:u-'
mmemvmumm MBMDTD[PERATEASALM!SE[RMHHIRIZATWNTDLBEHFIRMNHIPBIV‘IHMTHESPEUF'CVWW I‘NERH DOOR_CORPORATION.
The Gonuine. The Oviginl DATE
e, [T ———{VINILCAB,0PTION CODE 2026
Ty YA "MBLark | 1714721 [SeRIES 481/4207427/485/434/436,
0/-498 PSF, 12'-2* MAX
Va0 o vias | QVER S00 +.008/-003 xxx : ':a UNIT OF J aﬂN v8/21 v
R Wotiie RA XXX + .0 MEASLRE N/A ‘APPROVED BT &a D- 411793
ANGLES: % S° EA T CLARK 4/27/21 fsws N/A [ssm2 o 3



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

TRACK CLIP
1/4-20x9/16"

TRACK BOLT AND
1/4-20 HEX NUF

TRACK

CONTINUOUS
WALL ANGLE

) 1/4 x 7/16,
SEMI TU
RIVITS OR (2) i

1/4"-20 TRACK \
BOLTS WITH NUTS™,
OR (2) .28" DIA
RESISTANCE SPOT
WELDS:

MOUNTING TO STEEL DETAIL

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +44.0/—49.8

MAX WIDTH: 12'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

8

7 I

E60XX MIN.

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5"X20"

QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1”
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
UEU OF WELDING

0.D. WASHER AT

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

3/8" SIMPSON TITEN HD,
. 2-3/4" NIN ENBED INTO
- MN 2000
~. AT EACH HOLE OR PAR
N\, ——INTERIOR FRAME OF HOLE LOCATION
\,

\— SHEETMETAL SCREW

EXTERIOR \
FRAME \

uN 3/16 THK
FOR MOUNTING:

uouunue WALL ANGLE-

TRACK CUP:

%é"x I—Sa“LAO

Lomnmrmwoon
SUBSTRATE.

3/8° SIMPSON TITEN HD,
2-3/4" NIN_EMBED INTO
MIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION:

12GA_SCAB BRACKETS (OPTIONAL)
© 12" SPACING SECURED TO WALL

© |/ TANGLE WTH 1/4-20 TRACK BOLT

AND 1/4—20 FLANGE NUT

INWARD
TRACK CUP
By
1/4-20 HEX NUT-
CONCRETE MOUNTING DETAIL — ANGLE IN

1/4-20x0/16"

T SELF
1/4-20 HEX NU

TRAGK LEU oF

TPEMVWMBALLDTIERM \TIDN CONT/
AND INFDRMATIDI
ANY DF THIS DRAVING DR

AND PROPRIETARY PROPERTY.
ANYDNE VITHOUT THE PRIDR VRITTEN

WALL ANGLE MAY BE_ ATTACHED TO

-OPTIONAL:
SUPPORTING STEEL WTH M. . Q1) 1/4-20:7/8"

" 0D. WASHER AT

DRILLING SCREW WITH 1'
EAH‘IHG.EMPAIR“HG.E LOCATIONS IN

rwm:mmunmmummmm

COMP ANIES.
N.mvm.:mmpm,mvum!mmmmwnmmmT COWENT [ OVEREAD 08 CIRPERATION 6 DISGOSRE D
BECRTIN 1§ INTENDED T DPERATE AS 4 LIGNSE 0R AUTHIRIZATIN T0 USE I FIR ANY PURPOSE ITWOIT THE SPECTIC VRITTEN CONSENT (F DVERHEAD DOOR CORPORATION
= e {VINDLDAB,GPTION CODE 2n26
T CLARK 1/14/21 SERIES 421/423/427/429/434/436,
0/-49.8 PSF, 12'-2* MAX
RIAN 1/8/21
—— & D—- 411793
T CLARK | 4/27/21 lowo N/ [sei3 o 3

1



chris
Texas


	2020 411789-rA SH1
	2020 411789-rA SH2
	2020 411789-rA SH3
	2021 411791-rA SH1
	2021 411791-rA SH2
	2021 411791-rA SH3
	2024 411790-rA SH1
	2024 411790-rA SH2
	2024 411790-rA SH3
	2025 411792-rA SH1
	2025 411792-rA SH2
	2025 411792-rA SH3
	2026 411793-rA SH1
	2026 411793-rA SH2
	2026 411793-rA SH3

		2021-05-03T10:34:57-0500
	John Christian Voelkel




